

DMC No. 000001  
 Roll No. 245125765  
 Regn. No. 24-DEO-913

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SUNIL KUMAR  
 Father's Name : SATYAWAN JANGRA  
 Mother's Name : GUDDI DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	48 21	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	50 21	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	52 22	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	57 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	52 22	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	30 13	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	184.0
							22.0	184.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000002  
 Roll No. 245125766  
 Regn. No. 24-DEO-912

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : KAMAL GOYAL  
 Father's Name : ANIL GOYAL  
 Mother's Name : SAVITA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	41 28	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	43 28	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	47 29	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	48 29	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	49 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	28 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	80	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	86	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	109 47	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0736</b>		<b>0950</b>			<b>35.0</b>	<b>311.5</b>
	<b>GRAND TOTAL</b>	<b>0736</b>		<b>0950</b>			<b>35.0</b>	<b>311.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.90

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000003  
 Roll No. 245125767  
 Regn. No. 24-DEO-914

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : HAPPY KUMAR  
 Father's Name : KARAMVIR  
 Mother's Name : BHARTI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	49 21	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	45 19	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	50 21	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	50 21	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	54 23	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	27 12	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	178.0
							22.0	178.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000004  
 Roll No. 245125768  
 Regn. No. 24-DEO-910

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : RAHUL  
 Father's Name : CHARANJI LAL  
 Mother's Name : PARAMJEET  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	54 27	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	57 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	59 29	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	61 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	58 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	30 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	81	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	82	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	77 33	80AG	200	B+	7	08.0	56.0
	<b>TOTAL</b>	<b>0749</b>		<b>0950</b>			<b>35.0</b>	<b>313.0</b>
	<b>GRAND TOTAL</b>	<b>0749</b>		<b>0950</b>			<b>35.0</b>	<b>313.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.94

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000005  
 Roll No. 245125770  
 Regn. No. 24-DEO-908

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : V SENTHILKUMAR  
 Father's Name : VELUSAMY  
 Mother's Name : SELLAMMAL  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	52 18	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	57 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	60 29	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	61 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	52 26	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	32 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	74	40AG	100	A	8	02.5	20.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	88	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	249.0
							27.0	249.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000006  
 Roll No. 245125771  
 Regn. No. 24-DEO-919

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MYSERLA SANTOSHI KUMARI  
 Father's Name : VISHWESWARA RAO  
 Mother's Name : SANNAMMADU  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	39 16	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	45 19	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	41 16	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	46 17	40AG	100	B+	7	04.0	28.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	46 21	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	20 8	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	73	40AG	100	A	8	02.5	20.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	73	40AG	100	A	8	02.5	20.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	77 33	80AG	200	B+	7	08.0	56.0
	TOTAL	0590		0950			35.0	254.0
	GRAND TOTAL	0590		0950			35.0	254.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.26

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000007  
 Roll No. 245125772  
 Regn. No. 24-DEO-920

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : PURVA  
 Father's Name : BHARAT BHUSHAN  
 Mother's Name : NEERU  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	47 10	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	45 4	40AG	100	C	5	04.0	20.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	50 8	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	59 12	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	50 14	40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	25 3	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	86	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	48	40AG	100	C	5	02.5	12.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	97 41	80AG	200	A	8	08.0	64.0
	<b>TOTAL</b>	<b>0599</b>		<b>0950</b>			<b>35.0</b>	<b>251.5</b>
	<b>GRAND TOTAL</b>	<b>0599</b>		<b>0950</b>			<b>35.0</b>	<b>251.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 7.19

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000008  
 Roll No. 245125773  
 Regn. No. 24-DEO-907

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MUKESH KUMAR  
 Father's Name : JAYPAL  
 Mother's Name : KALAWANTI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	48 26	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	48 26	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	54 17	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	58 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	57 27	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	24 14	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	86	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	74	40AG	100	A	8	02.5	20.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	235.0
							27.0	235.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000009  
 Roll No. 245125776  
 Regn. No. 24-DEO-921

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SINGANAMALA VIJAYA KUMAR  
 Father's Name : S VANNACHARI  
 Mother's Name : S NAGALAKSHMI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	53	23	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	50	21	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	57	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	57	24	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	56	24	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	33	14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB	F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB	F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB	AB	F	80AG	200	F	08.0	0
	TOTAL	***			0950			35.0	196.0
								22.0	196.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000010  
 Roll No. 245125777  
 Regn. No. 24-DEO-926

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : BASANT SINGH  
 Father's Name : BALWINDER SINGH  
 Mother's Name : SIMRAN  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	55 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	51 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	56 30	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	60 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	57 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	30 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	86	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	87	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	109 47	80AG	200	A+	9	08.0	72.0
	TOTAL	0793		0950			35.0	334.0
	GRAND TOTAL	0793		0950			35.0	334.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.54

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000011  
 Roll No. 245125778  
 Regn. No. 24-DEO-925

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SK SAMSUL ISLAM  
 Father's Name : SK MAJAFFAR  
 Mother's Name : SAHAJADI BIBI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	52 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	55 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	58 29	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	60 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	50 30	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	33 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	83	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	84	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	109 47	80AG	200	A+	9	08.0	72.0
	TOTAL	0787		0950			35.0	325.0
	GRAND TOTAL	0787		0950			35.0	325.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.29

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000012  
 Roll No. 245125779  
 Regn. No. 24-DEO-927

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : ANCHAL  
 Father's Name : RUPESH SHARMA  
 Mother's Name : RAMA SHARMA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained			Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	AB	18	F	40AG	100	F	0	04.0	0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	AB	26	F	40AG	100	F	0	04.0	0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	43	26		40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	AB	29	F	40AG	100	F	0	04.0	0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	36	27		40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	AB	14	F	20AG	050	F	0	02.0	0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	82			40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	50			40AG	100	B	6	02.5	15.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB	AB	F	80AG	200	F	0	08.0	0
	TOTAL	***				0950			35.0	097.5
									27.0	97.5

RESULT : RE - TILL JUN- 2027 IN : MCA-20-31 MCA-20-32 MCA-20-34B OE-20-39 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000013  
 Roll No. 245125781  
 Regn. No. 24-DEO-929

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : NIKITA CHAUBEY  
 Father's Name : MANOJ KUMAR CHAUBEY  
 Mother's Name : POONAM CHAUBEY  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	61 28	40AG	100	O	10	04.0	40.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	56 28	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	63 29	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	64 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	57 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	34 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	83	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	86	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	91 39	80AG	200	A	8	08.0	64.0
	<b>TOTAL</b>	<b>0792</b>		<b>0950</b>			<b>35.0</b>	<b>327.5</b>
	<b>GRAND TOTAL</b>	<b>0792</b>		<b>0950</b>			<b>35.0</b>	<b>327.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.36

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000014  
 Roll No. 245125782  
 Regn. No. 24-DEO-924

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : TANISHA AGARWAL  
 Father's Name : SHALABH AGARWAL  
 Mother's Name : BABITA AGARWAL  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	51 13	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	46 21	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	52 28	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	42 24	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	29 12	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	70	40AG	100	A	8	02.5	20.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	77	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	91 39	80AG	200	A	8	08.0	64.0
	TOTAL	0671		0950			35.0	288.5
	GRAND TOTAL	0671		0950			35.0	288.5

RESULT : PASSED AND HAS OBTAINED : SGPA 8.24

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000015  
 Roll No. 245125783  
 Regn. No. 24-DEO-930

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : AMIT KUMAR PASWAN  
 Father's Name : LALAN KUMAR PASWAN  
 Mother's Name : ANITA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	59 15	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	48 13	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	59 15	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	56 14	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	63 14	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	30 8	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	64	40AG	100	B+	7	02.5	17.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	30 F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	106 46	80AG	200	A+	9	08.0	72.0
	TOTAL	***		0950			35.0	267.5
							35.0	267.5

RESULT : RE - TILL JUN- 2027 IN : MCA-20-37

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000016  
 Roll No. 245125785  
 Regn. No. 24-DEO-931

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : JYOTI MALIK  
 Father's Name : RANBIR  
 Mother's Name : PINKI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	56 28	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	59 29	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	62 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	61 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	33 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	83	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	85	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	94 40	80AG	200	A	8	08.0	64.0
	TOTAL	0784		0950			35.0	323.5
	GRAND TOTAL	0784		0950			35.0	323.5

RESULT : PASSED AND HAS OBTAINED : SGPA 9.24

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000017  
 Roll No. 245125786  
 Regn. No. 24-DEO-906

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : KURIKYALA MAHENDER YADAV  
 Father's Name : KURIKYALA RAMESH YADAV  
 Mother's Name : KURIKYALA LAXMI YADAV  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	52 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	51 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	54 26	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	57 27	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	47 27	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	28 13	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	76	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	82	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	113 49	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0754</b>		<b>0950</b>			<b>35.0</b>	<b>311.0</b>
	<b>GRAND TOTAL</b>	<b>0754</b>		<b>0950</b>			<b>35.0</b>	<b>311.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.89

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000018  
 Roll No. 245125789  
 Regn. No. 24-DEO-937

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : BHADRA HINA HARIDAS  
 Father's Name : HARIDAS  
 Mother's Name : JAYABEN  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	33 15	40AG	100	C	5	04.0	20.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	37 15	40AG	100	B	6	04.0	24.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	41 17	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	37 19	40AG	100	B+	7	04.0	28.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	42 20	40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	18 9	20AG	050	B	6	02.0	12.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	63	40AG	100	B+	7	02.5	17.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	69	40AG	100	A	8	02.5	20.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	108 46	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0589</b>		<b>0950</b>			<b>35.0</b>	<b>249.5</b>
	<b>GRAND TOTAL</b>	<b>0589</b>		<b>0950</b>			<b>35.0</b>	<b>249.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 7.13

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000019  
 Roll No. 245125790  
 Regn. No. 24-DEO-936

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : APOORV HARIT  
 Father's Name : BHARTENDU SHARMA  
 Mother's Name : PRITI SHARMA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	37 9	40AG	100	C	5	04.0	20.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	39 11	40AG	100	B	6	04.0	24.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	38 15	40AG	100	B	6	04.0	24.0
4	MCA-20-34B CYBER SECURITY	41 21	40AG	100	B+	7	04.0	28.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	37 25	40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	21 7	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	44	40AG	100	C	5	02.5	12.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	67	40AG	100	A	8	02.5	20.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	98 42	80AG	200	A	8	08.0	64.0
	TOTAL	0552		0950			35.0	234.5
	GRAND TOTAL	0552		0950			35.0	234.5

RESULT : PASSED AND HAS OBTAINED : SGPA 6.70

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000020  
 Roll No. 245125791  
 Regn. No. 24-DEO-934

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MANISH MEERWAL  
 Father's Name : SURENDER  
 Mother's Name : SUNITA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	54 27	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	50 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	49 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	48 29	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	41 29	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	22 15	20AG	050	A	8	02.0	16.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	81	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	84	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	98 42	80AG	200	A	8	08.0	64.0
	<b>TOTAL</b>	<b>0723</b>		<b>0950</b>			<b>35.0</b>	<b>301.0</b>
	<b>GRAND TOTAL</b>	<b>0723</b>		<b>0950</b>			<b>35.0</b>	<b>301.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.60

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000021  
 Roll No. 245125792  
 Regn. No. 24-DEO-941

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : TAPAS PRADHAN  
 Father's Name : RAJESH  
 Mother's Name : KALPANA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	54 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	53 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	55 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	56 28	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	61 28	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	34 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	82	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	86	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	109 47	80AG	200	A+	9	08.0	72.0
	TOTAL	0783		0950			35.0	323.5
	GRAND TOTAL	0783		0950			35.0	323.5

RESULT : PASSED AND HAS OBTAINED : SGPA 9.24

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000022  
 Roll No. 245125793  
 Regn. No. 24-DEO-942

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : BUDDHADEB KHATUA  
 Father's Name : BATAKRISHNA KHATUA  
 Mother's Name : MITARANI KHATUA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	46 24	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	49 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	40 28	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	45 29	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	48 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	25 13	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	78	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	84	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	112 48	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0724</b>		<b>0950</b>			<b>35.0</b>	<b>303.0</b>
	<b>GRAND TOTAL</b>	<b>0724</b>		<b>0950</b>			<b>35.0</b>	<b>303.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.66

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000023  
 Roll No. 245125794  
 Regn. No. 24-DEO-947

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : AMIT JANGRA  
 Father's Name : KRISHAN PAL  
 Mother's Name : SAROJ BALA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	38 25	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	48 23	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	53 25	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	27 13	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	74	40AG	100	A	8	02.5	20.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	84	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	112 48	80AG	200	A+	9	08.0	72.0
	TOTAL	0731		0950			35.0	300.5
	GRAND TOTAL	0731		0950			35.0	300.5

RESULT : PASSED AND HAS OBTAINED : SGPA 8.59

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000024  
 Roll No. 245125795  
 Regn. No. 24-DEO-943

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SIDDHARTH KUMAR PRITHVI  
 Father's Name : KRISHNA DEO MANDAL  
 Mother's Name : UMA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	54 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	52 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	50 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	56 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	52 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	32 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	80	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	82	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	116 50	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0777</b>		<b>0950</b>			<b>35.0</b>	<b>321.0</b>
	<b>GRAND TOTAL</b>	<b>0777</b>		<b>0950</b>			<b>35.0</b>	<b>321.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000025  
 Roll No. 245125796  
 Regn. No. 24-DEO-946

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MILAN VASHISTH  
 Father's Name : SHIRIRAM VASHISTH  
 Mother's Name : MANJU VASHISTH  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	55 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	49 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	52 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	56 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	54 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	28 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	78	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	86	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	112 48	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0772</b>		<b>0950</b>			<b>35.0</b>	<b>323.5</b>
	<b>GRAND TOTAL</b>	<b>0772</b>		<b>0950</b>			<b>35.0</b>	<b>323.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.24

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000026  
 Roll No. 245125798  
 Regn. No. 24-DEO-944

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : PARDEEP KUMAR  
 Father's Name : ASHOK KUMAR  
 Mother's Name : SUDESH RANI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	50 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	52 29	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	59 28	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	60 28	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	54 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	31 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	77	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	78	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	115 49	80AG	200	A+	9	08.0	72.0
	TOTAL	0780		0950			35.0	325.0
	GRAND TOTAL	0780		0950			35.0	325.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.29

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000027  
 Roll No. 245125799  
 Regn. No. 24-DEO-945

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SHASHIKANT KUMAR  
 Father's Name : DILIP KUMAR  
 Mother's Name : MEENA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	11 5 F	40AG	100	F	0	04.0	0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	AB AB F	40AG	100	F	0	04.0	0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	11 5 F	40AG	100	F	0	04.0	0
4	MCA-20-34B CYBER SECURITY	11 5 F	40AG	100	F	0	04.0	0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	17 7 F	40AG	100	F	0	04.0	0
6	OE-20-39 RETAIL MANAGEMENT	AB AB F	20AG	050	F	0	02.0	0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	****		0950			35.0	000.0
							16.0	0.0

RESULT : RE - TILL JUN- 2027 IN : FAIL

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000028  
 Roll No. 245125800  
 Regn. No. 24-DEO-951

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : DURGESH KUMAR PANDEY  
 Father's Name : KRISHNA PANDEY  
 Mother's Name : ANNA PURNA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	40 25	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	45 26	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	44 26	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	43 29	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	35 28	40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	23 15	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	78	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	80	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	101 43	80AG	200	A	8	08.0	64.0
	TOTAL	0681		0950			35.0	283.0
	GRAND TOTAL	0681		0950			35.0	283.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.09

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000029  
 Roll No. 245125801  
 Regn. No. 24-DEO-949

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MANISH KUMAR  
 Father's Name : RAMDEO SHUKLA  
 Mother's Name : SUMITRA SHUKLA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	46 20	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	43 19	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	39 14	40AG	100	B	6	04.0	24.0
4	MCA-20-34B CYBER SECURITY	47 25	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	43 26	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	27 11	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	74	40AG	100	A	8	02.5	20.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	72	40AG	100	A	8	02.5	20.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	119 51	80AG	200	O	10	08.0	80.0
	<b>TOTAL</b>	<b>0676</b>		<b>0950</b>			<b>35.0</b>	<b>286.0</b>
	<b>GRAND TOTAL</b>	<b>0676</b>		<b>0950</b>			<b>35.0</b>	<b>286.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000030  
 Roll No. 245125802  
 Regn. No. 24-DEO-950

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : ADITYA RAJ  
 Father's Name : DEVNATH PANDEY  
 Mother's Name : SANJU PANDEY  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	56 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	53 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	58 26	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	58 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	54 27	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	29 13	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	85	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	81	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	101 43	80AG	200	A	8	08.0	64.0
	TOTAL	0760		0950			35.0	309.5
	GRAND TOTAL	0760		0950			35.0	309.5

RESULT : PASSED AND HAS OBTAINED : SGPA 8.84

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000031  
 Roll No. 245125803  
 Regn. No. 24-DEO-952

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : VINOD KUMAR  
 Father's Name : JALAM SINGH  
 Mother's Name : SUMATI DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	27 19	40AG	100	C	5	04.0	20.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	34 22	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	17 25	40AG	100	C	5	04.0	20.0
4	MCA-20-34B CYBER SECURITY	53 28	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	40 27	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	18 12	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	80	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	76	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	122 52	80AG	200	O	10	08.0	80.0
	TOTAL	0652		0950			35.0	275.0
	GRAND TOTAL	0652		0950			35.0	275.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.86

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000032  
 Roll No. 245125805  
 Regn. No. 24-DEO-954

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SUDARSHAN SAHOO  
 Father's Name : MANTU SAHOO  
 Mother's Name : UMA SAHOO  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	52 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	53 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	55 30	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	57 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	58 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	29 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	80	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	82	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	111 47	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0781</b>		<b>0950</b>			<b>35.0</b>	<b>329.0</b>
	<b>GRAND TOTAL</b>	<b>0781</b>		<b>0950</b>			<b>35.0</b>	<b>329.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000033  
 Roll No. 245125806  
 Regn. No. 24-DEO-956

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : NIRAJ KUMAR  
 Father's Name : SHAILENDRA PRASAD SINGH  
 Mother's Name : GENERAL  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	42 26	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	47 22	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	46 21	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	51 29	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	46 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	21 11	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	38 F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	32 F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	182.0
							27.0	182.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000034  
 Roll No. 245125807  
 Regn. No. 24-DEO-948

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SITA  
 Father's Name : RAM KISHOR  
 Mother's Name : MAYA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	58 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	58 28	40AG	100	O	10	04.0	40.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	56 29	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	59 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	60 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	34 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	86	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	81	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	119 51	80AG	200	O	10	08.0	80.0
	<b>TOTAL</b>	<b>0820</b>		<b>0950</b>			<b>35.0</b>	<b>343.5</b>
	<b>GRAND TOTAL</b>	<b>0820</b>		<b>0950</b>			<b>35.0</b>	<b>343.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.81

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000035  
 Roll No. 245125808  
 Regn. No. 24-DEO-958

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : VIKAS TIWARI  
 Father's Name : VIJAY KUMAR TIWARI  
 Mother's Name : RANI DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	48 26	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	55 29	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	50 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	57 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	52 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	29 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	87	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	87	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	119 51	80AG	200	O	10	08.0	80.0
	<b>TOTAL</b>	<b>0790</b>		<b>0950</b>			<b>35.0</b>	<b>330.0</b>
	<b>GRAND TOTAL</b>	<b>0790</b>		<b>0950</b>			<b>35.0</b>	<b>330.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.43

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000036  
 Roll No. 245125809  
 Regn. No. 24-DEO-938

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : AMIT  
 Father's Name : OM PARKASH  
 Mother's Name : MURTI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	59 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	61 28	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	60 28	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	55 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	31 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	81	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	81	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	112 48	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0794</b>		<b>0950</b>			<b>35.0</b>	<b>325.0</b>
	<b>GRAND TOTAL</b>	<b>0794</b>		<b>0950</b>			<b>35.0</b>	<b>325.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.29

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000037  
 Roll No. 245125810  
 Regn. No. 24-DEO-962

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SUNIL KUMAR  
 Father's Name : SHRAVAN SINGH  
 Mother's Name : SUSHMA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	58 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	58 11	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	57 19	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	60 21	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	54 22	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	32 9	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	82	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	88	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	109 47	80AG	200	A+	9	08.0	72.0
	TOTAL	0750		0950			35.0	313.5
	GRAND TOTAL	0750		0950			35.0	313.5

RESULT : PASSED AND HAS OBTAINED : SGPA 8.96

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000038  
 Roll No. 245125812  
 Regn. No. 24-DEO-960

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SANJEEVANI  
 Father's Name : BALI RAM  
 Mother's Name : SUNITA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	29 11 *	40AG	100	P	4	04.0	16.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	46 20	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	37 16	40AG	100	B	6	04.0	24.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	42 18	40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	21 9	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	150.0
							22.0	150.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000039  
 Roll No. 245125813  
 Regn. No. 24-DEO-961

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : AYAM KUMAR SINHA  
 Father's Name : VINOD KUMAR SINHA  
 Mother's Name : ARCHANA SINHA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	54 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	49 22	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	53 23	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	AB AB F	20AG	050	F	0	02.0	0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	48	40AG	100	C	5	02.5	12.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	30 F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	188.5
							25.0	188.5

RESULT : RE - TILL JUN- 2027 IN : OE-20-39 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000040  
 Roll No. 245125816  
 Regn. No. 24-DEO-965

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : GURMEET  
 Father's Name : JAIBHAGWAN  
 Mother's Name : GUDDI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	41 5	40AG	100	C	5	04.0	20.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	51 22	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	51 22	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	58 5	40AG	100	B+	7	04.0	28.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	47 20	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	21 9	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	158.0
							22.0	158.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000041  
 Roll No. 245125817  
 Regn. No. 24-DEO-904

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : BHUPINDER PRASHAR  
 Father's Name : KRISHAN KANT  
 Mother's Name : KIRAN BALA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	54	23	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	59	25	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	58	25	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	61	26	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	58	25	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	34	15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB	F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB	F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB	AB	F	80AG	200	F	08.0	0
	TOTAL	***			0950			35.0	204.0
								22.0	204.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000042  
 Roll No. 245125818  
 Regn. No. 24-DEO-967

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : AMITOJ KAUR  
 Father's Name : SATNAM SINGH  
 Mother's Name : GURMEET KAUR  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	59 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	56 24	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	15 5 *	20AG	050	P	4	02.0	8.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	188.0
							22.0	188.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000043  
 Roll No. 245125820  
 Regn. No. 24-DEO-918

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : ANUPAM KUMAR JHA  
 Father's Name : SHAILENDRA KUMAR JHA  
 Mother's Name : KUMOD DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained			Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	AB	AB	F	40AG	100	F	0	04.0	0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	AB	AB	F	40AG	100	F	0	04.0	0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	09	4	F	40AG	100	F	0	04.0	0
4	MCA-20-34B CYBER SECURITY	AB	AB	F	40AG	100	F	0	04.0	0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	AB	AB	F	40AG	100	F	0	04.0	0
6	OE-20-39 RETAIL MANAGEMENT	AB	AB	F	20AG	050	F	0	02.0	0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB		F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB		F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB	AB	F	80AG	200	F	0	08.0	0
	TOTAL	****				0950			35.0	000.0
									4.0	0.0

RESULT : RE - TILL JUN- 2027 IN : FAIL

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000044  
 Roll No. 245125822  
 Regn. No. 24-DEO-964

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MANISH KUMAR  
 Father's Name : HARISH KUMAR SAH  
 Mother's Name : BASANTI DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	54	23	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	52	22	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	52	22	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	54	23	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	50	21	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	28	12	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB	F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB	F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB	AB	F	80AG	200	F	08.0	0
	TOTAL	***			0950			35.0	186.0
								22.0	186.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000045  
 Roll No. 245125825  
 Regn. No. 24-DEO-972

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : KAVIKANT  
 Father's Name : MOHAN LAL  
 Mother's Name : SEEMA RANI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	46 28	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	44 26	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	56 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	60 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	56 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	33 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	73	40AG	100	A	8	02.5	20.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	80	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	104 44	80AG	200	A	8	08.0	64.0
	<b>TOTAL</b>	<b>0747</b>		<b>0950</b>			<b>35.0</b>	<b>306.5</b>
	<b>GRAND TOTAL</b>	<b>0747</b>		<b>0950</b>			<b>35.0</b>	<b>306.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.76

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000046  
 Roll No. 245125826  
 Regn. No. 24-DEO-971

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : VIKASH RANA  
 Father's Name : BALBIR SINGH  
 Mother's Name : ANURADHA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	50	21	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	39	17	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	46	20	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	52	22	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	46	20	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	25	11	20AG	050	A	8	02.0	16.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB	F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB	F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB	AB	F	80AG	200	F	08.0	0
	TOTAL	***			0950			35.0	172.0
								22.0	172.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000047  
 Roll No. 245125828  
 Regn. No. 24-DEO-975

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : ASHUTOSH BISHWASH  
 Father's Name : PRALHAD  
 Mother's Name : SUKH RANI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	35 23	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	36 19	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	41 24	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	40 27	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	37 27	40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	18 11	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	84	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	81	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	207.0
							27.0	207.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000048  
 Roll No. 245125829  
 Regn. No. 24-DEO-933

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : VIKAS GHOLAP  
 Father's Name : RAJENDRA  
 Mother's Name : SEEMA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	58 27	40AG	100	O	10	04.0	40.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	57 28	40AG	100	O	10	04.0	40.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	58 28	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	61 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	55 28	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	33 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	76	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	80	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	109 47	80AG	200	A+	9	08.0	72.0
	TOTAL	0788		0950			35.0	333.0
	GRAND TOTAL	0788		0950			35.0	333.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.51

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000049  
 Roll No. 245125830  
 Regn. No. 24-DEO-973

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MANOJ SHARMA  
 Father's Name : GUPAT RAM  
 Mother's Name : SUNITA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	43 24	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	54 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	56 27	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	57 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	52 28	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	33 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	85	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	94 40	80AG	200	A	8	08.0	64.0
	TOTAL	0745		0950			35.0	311.5
	GRAND TOTAL	0745		0950			35.0	311.5

RESULT : PASSED AND HAS OBTAINED : SGPA 8.90

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000050  
 Roll No. 245125831  
 Regn. No. 24-DEO-980

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : AARUSHI  
 Father's Name : SATBIR SINGH  
 Mother's Name : GEETA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	52 11	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	61 26	40AG	100	O	10	04.0	40.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	AB AB F	40AG	100	F	0	04.0	0
4	MCA-20-34B CYBER SECURITY	61 26	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	56 24	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	34 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	76	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	113 49	80AG	200	A+	9	08.0	72.0
	TOTAL	***		0950			35.0	281.0
							31.0	281.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-33

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000051  
 Roll No. 245125832  
 Regn. No. 24-DEO-978

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : ANJU GUPTA  
 Father's Name : SUDESH KUMAR  
 Mother's Name : AMITA GUPTA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	56 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	56 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	56 29	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	60 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	52 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	32 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	83	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	86	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	108 46	80AG	200	A+	9	08.0	72.0
	TOTAL	0789		0950			35.0	327.5
	GRAND TOTAL	0789		0950			35.0	327.5

RESULT : PASSED AND HAS OBTAINED : SGPA 9.36

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000052  
 Roll No. 245125833  
 Regn. No. 24-DEO-977

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : ANAND KUMAR  
 Father's Name : SUSHIL CHANDRA JHA  
 Mother's Name : INDU DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	20 20 *	40AG	100	P	4	04.0	16.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	23 17 *	40AG	100	P	4	04.0	16.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	41 21	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	52 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	45 22	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	22 14	20AG	050	A	8	02.0	16.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	72	40AG	100	A	8	02.5	20.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	78	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	84 36	80AG	200	B+	7	08.0	56.0
	TOTAL	0591		0950			35.0	242.5
	GRAND TOTAL	0591		0950			35.0	242.5

RESULT : PASSED AND HAS OBTAINED : SGPA 6.93

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000053  
 Roll No. 245125834  
 Regn. No. 24-DEO-981

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : GAURAV GOEL  
 Father's Name : SURINDER  
 Mother's Name : RAJ BALA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	41 25	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	52 28	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	43 29	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	54 29	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	41 29	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	24 14	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	86	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	85	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	236.0
							27.0	236.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000054  
 Roll No. 245125836  
 Regn. No. 24-DEO-979

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SANDEEP  
 Father's Name : DALBIR SINGH  
 Mother's Name : LILAWATI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	47 23	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	44 26	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	51 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	58 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	52 26	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	21 14	20AG	050	A	8	02.0	16.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	44	40AG	100	C	5	02.5	12.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	48	40AG	100	C	5	02.5	12.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	217.0
							27.0	217.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000055  
 Roll No. 245125837  
 Regn. No. 24-DEO-982

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SAMPAT SINGH  
 Father's Name : HARIMANGAL SINGH  
 Mother's Name : MANJU DEVI SINGH  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	55 21	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	49 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	51 27	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	57 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	55 21	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	33 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	81	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	90	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	70 30	80AG	200	B	6	08.0	48.0
	TOTAL	0711		0950			35.0	299.5
	GRAND TOTAL	0711		0950			35.0	299.5

RESULT : PASSED AND HAS OBTAINED : SGPA 8.56

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000056  
 Roll No. 245125839  
 Regn. No. 24-DEO-966

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : ABHISHEK KUMAR  
 Father's Name : DHARMENDRA SINGH GUUTAM  
 Mother's Name : BIBHA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	41 27	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	42 18	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	38 16	40AG	100	B	6	04.0	24.0
4	MCA-20-34B CYBER SECURITY	42 18	40AG	100	B+	7	04.0	28.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	41 18	40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	21 3	20AG	050	C	5	02.0	10.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	22 F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	150.0
							24.0	150.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000057  
 Roll No. 245125840  
 Regn. No. 24-DEO-983

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : GUPTA VIVEK BHIMPRASAD  
 Father's Name : BHIMPRASAD GUPTA  
 Mother's Name : GAYATRI GUPTA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	51 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	54 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	52 27	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	54 30	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	58 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	27 15	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	83	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	119 51	80AG	200	O	10	08.0	80.0
	<b>TOTAL</b>	<b>0786</b>		<b>0950</b>			<b>35.0</b>	<b>327.0</b>
	<b>GRAND TOTAL</b>	<b>0786</b>		<b>0950</b>			<b>35.0</b>	<b>327.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.34

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000058  
 Roll No. 245125843  
 Regn. No. 24-DEO-986

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : YASHDEEP  
 Father's Name : VEDPAL  
 Mother's Name : SANURTI DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	49 27	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	51 28	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	53 27	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	54 29	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	56 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	29 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	82	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	77 33	80AG	200	B+	7	08.0	56.0
	TOTAL	0723		0950			35.0	305.0
	GRAND TOTAL	0723		0950			35.0	305.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.71

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000059  
 Roll No. 245125844  
 Regn. No. 24-DEO-988

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MOHITE VISHWAJEET ANKUSH  
 Father's Name : ANKUSH  
 Mother's Name : MANISHA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	54 14	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	53 29	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	58 28	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	57 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	26 14	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	74	40AG	100	A	8	02.5	20.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	30 F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	84 36	80AG	200	B+	7	08.0	56.0
	TOTAL	***		0950			35.0	278.0
							35.0	278.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-37

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000060  
 Roll No. 245125845  
 Regn. No. 24-DEO-985

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SWEETY SHARMA  
 Father's Name : PAWAN SHARMA  
 Mother's Name : GEETA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	34	15	40AG	100	C	5	04.0	20.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	56	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	52	22	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	53	23	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	51	22	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	27	12	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB	F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB	F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB	AB	F	80AG	200	F	08.0	0
	TOTAL	***			0950			35.0	174.0
								22.0	174.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000061  
 Roll No. 245125846  
 Regn. No. 24-DEO-989

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : BHAGESH  
 Father's Name : BALWAN SINGH  
 Mother's Name : RAJ BALA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	28 15	40AG	100	C	5	04.0	20.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	40 20	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	35 22	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	38 24	40AG	100	B+	7	04.0	28.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	32 22	40AG	100	B	6	04.0	24.0
6	OE-20-39 RETAIL MANAGEMENT	13 11	20AG	050	C	5	02.0	10.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	77	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	60	40AG	100	B+	7	02.5	17.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	115 49	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0601</b>		<b>0950</b>			<b>35.0</b>	<b>250.0</b>
	<b>GRAND TOTAL</b>	<b>0601</b>		<b>0950</b>			<b>35.0</b>	<b>250.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 7.14

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000062  
 Roll No. 245125847  
 Regn. No. 24-DEO-992

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SHUBHAM JAIN  
 Father's Name : RAJBIR JAIN  
 Mother's Name : RAJESH JAIN  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	59 26	40AG	100	O	10	04.0	40.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	47 26	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	56 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	54 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	27 14	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	44	40AG	100	C	5	02.5	12.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	46	40AG	100	C	5	02.5	12.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	227.0
							27.0	227.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000063  
 Roll No. 245125848  
 Regn. No. 24-DEO-991

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : VARSHA TOMAR  
 Father's Name : CHANDERPAL SINGH TOMAR  
 Mother's Name : SUSHILA TOMAR  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	56 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	57 28	40AG	100	O	10	04.0	40.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	53 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	57 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	55 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	30 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	84	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	88	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	77 33	80AG	200	B+	7	08.0	56.0
	TOTAL	0744		0950			35.0	311.5
	GRAND TOTAL	0744		0950			35.0	311.5

RESULT : PASSED AND HAS OBTAINED : SGPA 8.90

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000064  
 Roll No. 245125849  
 Regn. No. 24-DEO-993

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : ASHWANI KUMAR  
 Father's Name : SURINDER KUMAR  
 Mother's Name : SUBHASHNA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	20 20 *	40AG	100	P	4	04.0	16.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	43 22	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	33 18	40AG	100	B	6	04.0	24.0
4	MCA-20-34B CYBER SECURITY	41 27	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	35 17	40AG	100	B	6	04.0	24.0
6	OE-20-39 RETAIL MANAGEMENT	21 9	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	88	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	82	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	94 40	80AG	200	A	8	08.0	64.0
	<b>TOTAL</b>	<b>0610</b>		<b>0950</b>			<b>35.0</b>	<b>253.5</b>
	<b>GRAND TOTAL</b>	<b>0610</b>		<b>0950</b>			<b>35.0</b>	<b>253.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 7.24

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000065  
 Roll No. 245125852  
 Regn. No. 24-DEO-996

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : ASHISH KUMAR  
 Father's Name : SANJAY KUMAR  
 Mother's Name : SABITA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	52 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	59 26	40AG	100	O	10	04.0	40.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	54 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	58 26	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	51 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	31 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	89	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	86	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	84 36	80AG	200	B+	7	08.0	56.0
	TOTAL	0750		0950			35.0	310.0
	GRAND TOTAL	0750		0950			35.0	310.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.86

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000066  
 Roll No. 245125853  
 Regn. No. 24-DEO-995

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : PAWAR HARSHAD YASHAWANT  
 Father's Name : YASHWANT  
 Mother's Name : MINABAI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	52 28	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	47 20	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	43 27	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	45 25	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	AB 23 F	40AG	100	F	0	04.0	0
6	OE-20-39 RETAIL MANAGEMENT	21 10	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	81	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	85	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	98 42	80AG	200	A	8	08.0	64.0
	TOTAL	***		0950			35.0	257.5
							35.0	257.5

RESULT : RE - TILL JUN- 2027 IN : MCA-20-35B

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000067  
 Roll No. 245125855  
 Regn. No. 24-DEO-998

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MINHAJ UDDIN AHMED  
 Father's Name : MOFIL UDDIN AHMED  
 Mother's Name : MEHERBANU BEGUM  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	37 24	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	53 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	56 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	58 28	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	56 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	29 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	86	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	79	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	63 27	80AG	200	C	5	08.0	40.0
	<b>TOTAL</b>	<b>0694</b>		<b>0950</b>			<b>35.0</b>	<b>287.5</b>
	<b>GRAND TOTAL</b>	<b>0694</b>		<b>0950</b>			<b>35.0</b>	<b>287.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.21

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000068  
 Roll No. 245125856  
 Regn. No. 24-DEO-999

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : RAVISH KUMAR  
 Father's Name : SURYABALI PATEL  
 Mother's Name : MINA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	48 26	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	56 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	57 28	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	56 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	56 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	32 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	91	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	90	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	95 41	80AG	200	A	8	08.0	64.0
	TOTAL	0777		0950			35.0	322.0
	GRAND TOTAL	0777		0950			35.0	322.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.20

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000069  
 Roll No. 245125857  
 Regn. No. 24-DEO-1000

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : PRACHI YADAV  
 Father's Name : ANIL YADAV  
 Mother's Name : RASHMI YADAV  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	43 29	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	50 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	53 29	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	53 30	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	52 30	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	23 10	20AG	050	A	8	02.0	16.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	46	40AG	100	C	5	02.5	12.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	204.5
							24.0	204.5

RESULT : RE - TILL JUN- 2027 IN : MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000070  
 Roll No. 245125858  
 Regn. No. 24-DEO-1003

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SIMRAN GARG  
 Father's Name : DEVI DAYAL GARG  
 Mother's Name : LITTLE  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	50 23	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	59 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	55 26	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	57 26	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	54 28	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	30 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	78	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	84	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	112 48	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0769</b>		<b>0950</b>			<b>35.0</b>	<b>313.0</b>
	<b>GRAND TOTAL</b>	<b>0769</b>		<b>0950</b>			<b>35.0</b>	<b>313.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.94

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000071  
 Roll No. 245125859  
 Regn. No. 24-DEO-974

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : AMAN  
 Father's Name : ARVIND  
 Mother's Name : RAJESHWARI DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	AB 20 F	40AG	100	F	0	04.0	0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	AB 20 F	40AG	100	F	0	04.0	0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	AB 23 F	40AG	100	F	0	04.0	0
4	MCA-20-34B CYBER SECURITY	AB 18 F	40AG	100	F	0	04.0	0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	AB 26 F	40AG	100	F	0	04.0	0
6	OE-20-39 RETAIL MANAGEMENT	AB 12 F	20AG	050	F	0	02.0	0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	72	40AG	100	A	8	02.5	20.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	94 40	80AG	200	A	8	08.0	64.0
	TOTAL	***		0950			35.0	106.5
							35.0	106.5

RESULT : RE - TILL JUN- 2027 IN : MCA-20-31 MCA-20-32 MCA-20-33 MCA-20-34B MCA-20-35B OE-20-39

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000072  
 Roll No. 245125860  
 Regn. No. 24-DEO-939

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SATYA NARAYAN SAHOO  
 Father's Name : DUKHA BANDHU SAHOO  
 Mother's Name : SUBHADRA SAHOO  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	50 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	53 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	48 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	56 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	52 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	28 14	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	84	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	109 47	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0761</b>		<b>0950</b>			<b>35.0</b>	<b>319.0</b>
	<b>GRAND TOTAL</b>	<b>0761</b>		<b>0950</b>			<b>35.0</b>	<b>319.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.11

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000073  
 Roll No. 245125862  
 Regn. No. 24-DEO-1005

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : VIPIN KUMAR  
 Father's Name : RIKHI PARSAD  
 Mother's Name : URMILA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	56 22	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	54 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	56 29	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	56 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	56 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	27 15	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	89	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	90	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	108 46	80AG	200	A+	9	08.0	72.0
	TOTAL	0789		0950			35.0	332.0
	GRAND TOTAL	0789		0950			35.0	332.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.49

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000074  
 Roll No. 245125863  
 Regn. No. 24-DEO-1002

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MRINAL MONDAL  
 Father's Name : NIRANJAN MONDAL  
 Mother's Name : LATE KALPANA MONDAL  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	58 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	58 27	40AG	100	O	10	04.0	40.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	54 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	57 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	59 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	33 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	92	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	97 41	80AG	200	A	8	08.0	64.0
	TOTAL	0787		0950			35.0	323.5
	GRAND TOTAL	0787		0950			35.0	323.5

RESULT : PASSED AND HAS OBTAINED : SGPA 9.24

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000075  
 Roll No. 245125864  
 Regn. No. 24-DEO-976

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : PARDEEP KUMAR  
 Father's Name : UDAYVIR SINGH  
 Mother's Name : BIMLA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	26 14 *	40AG	100	P	4	04.0	16.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	23 17 *	40AG	100	P	4	04.0	16.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	29 22	40AG	100	B	6	04.0	24.0
4	MCA-20-34B CYBER SECURITY	35 28	40AG	100	B+	7	04.0	28.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	24 28	40AG	100	B	6	04.0	24.0
6	OE-20-39 RETAIL MANAGEMENT	12 13	20AG	050	B	6	02.0	12.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	74	40AG	100	A	8	02.5	20.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	82	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	162.5
							27.0	162.5

RESULT : RE - TILL JUN- 2027 IN : MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000076  
 Roll No. 245125865  
 Regn. No. 24-DEO-990

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MRITUNJAY GUPTA  
 Father's Name : PARASHURAM GUPTA  
 Mother's Name : YONIYA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	40 9	40AG	100	C	5	04.0	20.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	37 10	40AG	100	C	5	04.0	20.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	36 12	40AG	100	C	5	04.0	20.0
4	MCA-20-34B CYBER SECURITY	49 21	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	39 14	40AG	100	B	6	04.0	24.0
6	OE-20-39 RETAIL MANAGEMENT	18 6	20AG	050	C	5	02.0	10.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	28 F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	36 F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	106 46	80AG	200	A+	9	08.0	72.0
	TOTAL	***		0950			35.0	198.0
							35.0	198.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000077  
 Roll No. 245125866  
 Regn. No. 24-DEO-1009

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SUBHOJIT CHAKROBORTY  
 Father's Name : DEBASHIS CHAKROBORTY  
 Mother's Name : TANUJA CHAKROBORTY  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	52 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	57 27	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	58 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	57 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	32 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	78	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	94 40	80AG	200	A	8	08.0	64.0
	TOTAL	0755		0950			35.0	317.0
	GRAND TOTAL	0755		0950			35.0	317.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.06

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000078  
 Roll No. 245125867  
 Regn. No. 24-DEO-1004

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : TANISHA TOMAR  
 Father's Name : KULVIR SINGH  
 Mother's Name : REETU TOMAR  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	45 11	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	44 19	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	44 19	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	41 18	40AG	100	B+	7	04.0	28.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	30 13	40AG	100	C	5	04.0	20.0
6	OE-20-39 RETAIL MANAGEMENT	19 8	20AG	050	B	6	02.0	12.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	144.0
							22.0	144.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000079  
 Roll No. 245125868  
 Regn. No. 24-DEO-1008

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : HIMANSHU  
 Father's Name : BHOLA SHANKAR  
 Mother's Name : SHWETA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	52 16	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	61 28	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	59 27	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	50 28	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	32 13	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	75	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	80	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	97 41	80AG	200	A	8	08.0	64.0
	TOTAL	0741		0950			35.0	313.0
	GRAND TOTAL	0741		0950			35.0	313.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.94

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000080  
 Roll No. 245125870  
 Regn. No. 24-DEO-901

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : ABHINAV HARISHCHANDRA SHEDMEK  
 Father's Name : HARISHCHANDRA JAIRAM SHEDMEKH  
 Mother's Name : CHANDRAKIRAN H SHEDMEKHE  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	31 13	40AG	100	C	5	04.0	20.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	40 17	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	44 19	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	AB AB F	40AG	100	F	0	04.0	0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	47 20	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	27 12	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	126.0
							18.0	126.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-34B MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000081  
 Roll No. 245125871  
 Regn. No. 24-DEO-1010

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : PARAS KUMAR  
 Father's Name : NARESH KUMAR  
 Mother's Name : SUNITA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained			Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	AB	23	F	40AG	100	F	0	04.0	0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	31	25		40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	36	29		40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	AB	28	F	40AG	100	F	0	04.0	0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	24	28		40AG	100	B	6	04.0	24.0
6	OE-20-39 RETAIL MANAGEMENT	AB	7	F	20AG	050	F	0	02.0	0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	44			40AG	100	C	5	02.5	12.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	42			40AG	100	C	5	02.5	12.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB	AB	F	80AG	200	F	0	08.0	0
	TOTAL	***				0950			35.0	109.0
									27.0	109.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-31 MCA-20-34B OE-20-39 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000082  
 Roll No. 245125872  
 Regn. No. 24-DEO-922

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : CHANDANI  
 Father's Name : KAPINDER PRASAD  
 Mother's Name : SONI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	42 25	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	37 27	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	36 28	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	45 29	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	46 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	16 14	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	91	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	84	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	108 46	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0703</b>		<b>0950</b>			<b>35.0</b>	<b>289.5</b>
	<b>GRAND TOTAL</b>	<b>0703</b>		<b>0950</b>			<b>35.0</b>	<b>289.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.27

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000083  
 Roll No. 245125873  
 Regn. No. 24-DEO-1013

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : RAKESH KUMAR  
 Father's Name : SARJEET SINGH  
 Mother's Name : MAINA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	48 24	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	55 20	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	48 23	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	54 29	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	52 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	33 11	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	76	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	78	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	108 46	80AG	200	A+	9	08.0	72.0
	TOTAL	0734		0950			35.0	309.0
	GRAND TOTAL	0734		0950			35.0	309.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000084  
 Roll No. 245125875  
 Regn. No. 24-DEO-1012

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : UJJAWAL  
 Father's Name : KAPOOR SINGH  
 Mother's Name : BUGLI DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	31 13	40AG	100	C	5	04.0	20.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	38 16	40AG	100	B	6	04.0	24.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	40 17	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	40 17	40AG	100	B+	7	04.0	28.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	41 18	40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	AB AB F	20AG	050	F	0	02.0	0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	128.0
							20.0	128.0

RESULT : RE - TILL JUN- 2027 IN : OE-20-39 MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000085  
 Roll No. 245125876  
 Regn. No. 24-DEO-1014

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : DEVANAND KUMAR  
 Father's Name : SHANKAR PRASAD RAI  
 Mother's Name : MALA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	49 13	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	50 21	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	44 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	56 18	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	58 12	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	30 13	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	36 F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	35 F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	104 44	80AG	200	A	8	08.0	64.0
	TOTAL	***		0950			35.0	236.0
							35.0	236.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000086  
 Roll No. 245125877  
 Regn. No. 24-DEO-1019

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : PADALA MADHAVA KRISHNA  
 Father's Name : PADALA VENKATESWARA RAO  
 Mother's Name : PADALA DURGAVATHI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	35	15	40AG	100	B	6	04.0	24.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	40	17	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	43	18	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	46	20	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	37	16	40AG	100	B	6	04.0	24.0
6	OE-20-39 RETAIL MANAGEMENT	28	12	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB	F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB	F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB	AB	F	80AG	200	F	08.0	0
	TOTAL	***			0950			35.0	154.0
								22.0	154.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000087  
 Roll No. 245125878  
 Regn. No. 24-DEO-1020

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : PAPU KUMAR SHARMA  
 Father's Name : MAHANTH SHARMA  
 Mother's Name : MEENA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	50 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	50 23	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	57 28	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	53 28	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	32 11	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	82	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	80	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	245.0
							27.0	245.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000088  
 Roll No. 245125879  
 Regn. No. 24-DEO-1015

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : HARBHAJAN  
 Father's Name : VINOD KUMAR  
 Mother's Name : BALA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	46 20	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	43 18	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	49 21	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	49 21	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	42 18	40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	19 8	20AG	050	B	6	02.0	12.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	164.0
							22.0	164.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000089  
 Roll No. 245125881  
 Regn. No. 24-DEO-1022

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : NARESH GORIPARTHI  
 Father's Name : KRISHNA  
 Mother's Name : DHANA LAKSHMI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	55 19	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	59 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	52 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	58 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	57 25	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	29 13	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	84	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	87	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	84 36	80AG	200	B+	7	08.0	56.0
	<b>TOTAL</b>	<b>0735</b>		<b>0950</b>			<b>35.0</b>	<b>301.5</b>
	<b>GRAND TOTAL</b>	<b>0735</b>		<b>0950</b>			<b>35.0</b>	<b>301.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.61

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000090  
 Roll No. 245125882  
 Regn. No. 24-DEO-1026

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MANISH KUMAR  
 Father's Name : UDAY PARSAD YADAV  
 Mother's Name : PRAMILA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	51 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	58 27	40AG	100	O	10	04.0	40.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	51 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	57 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	51 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	30 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	84	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	85	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	111 47	80AG	200	A+	9	08.0	72.0
	TOTAL	0777		0950			35.0	327.5
	GRAND TOTAL	0777		0950			35.0	327.5

RESULT : PASSED AND HAS OBTAINED : SGPA 9.36

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000091  
 Roll No. 245125883  
 Regn. No. 24-DEO-1017

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : KHUSHBOO KUMARI  
 Father's Name : SUBODH KUMAR MISHRA  
 Mother's Name : ANJU DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	48 21	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	48 26	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	46 28	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	56 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	48 27	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	26 15	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	81	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	81	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	116 50	80AG	200	A+	9	08.0	72.0
	TOTAL	0740		0950			35.0	303.0
	GRAND TOTAL	0740		0950			35.0	303.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.66

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000092  
 Roll No. 245125884  
 Regn. No. 24-DEO-1018

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : BASANTA KUMAR SAHU  
 Father's Name : RAJESH KUMAR SAHU  
 Mother's Name : BHAGYABATI SAHU  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	57 27	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	49 28	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	61 28	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	61 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	58 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	34 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	78	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	111 47	80AG	200	A+	9	08.0	72.0
	TOTAL	0797		0950			35.0	329.0
	GRAND TOTAL	0797		0950			35.0	329.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000093  
 Roll No. 245125885  
 Regn. No. 24-DEO-1028

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : GEETA  
 Father's Name : VIJAY MADAAN  
 Mother's Name : VANDNA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	58 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	57 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	58 27	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	55 29	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	49 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	23 9	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	83	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	88	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	94 40	80AG	200	A	8	08.0	64.0
	TOTAL	0752		0950			35.0	309.5
	GRAND TOTAL	0752		0950			35.0	309.5

RESULT : PASSED AND HAS OBTAINED : SGPA 8.84

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000094  
 Roll No. 245125886  
 Regn. No. 24-DEO-1023

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : AYUSH SINGH  
 Father's Name : SATISH KUMAR  
 Mother's Name : SANJU  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	54 3	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	54 16	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	53 14	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	58 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	56 18	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	30 7	20AG	050	A	8	02.0	16.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	79	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	62	40AG	100	B+	7	02.5	17.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	101 43	80AG	200	A	8	08.0	64.0
	<b>TOTAL</b>	<b>0672</b>		<b>0950</b>			<b>35.0</b>	<b>280.0</b>
	<b>GRAND TOTAL</b>	<b>0672</b>		<b>0950</b>			<b>35.0</b>	<b>280.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000095  
 Roll No. 245125887  
 Regn. No. 24-DEO-1007

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MANJU RANI  
 Father's Name : CHARAN SINGH  
 Mother's Name : KRISHNA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	51 22	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	52 22	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	54 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	57 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	61 26	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	31 13	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	196.0
							22.0	196.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000096  
 Roll No. 245125890  
 Regn. No. 24-DEO-1024

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : LIJA BHOI  
 Father's Name : BINOD BHOI  
 Mother's Name : PREMASILA BHOI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	46 20	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	44 21	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	59 22	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	49 25	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	51 26	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	27 11	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	86	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	76	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	101 43	80AG	200	A	8	08.0	64.0
	TOTAL	0707		0950			35.0	297.5
	GRAND TOTAL	0707		0950			35.0	297.5

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000097  
 Roll No. 245125891  
 Regn. No. 24-DEO-1027

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MONIKA BINDROO  
 Father's Name : ASHOK KUMAR BINDROO  
 Mother's Name : SUNITA BINDROO  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	55 28	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	56 29	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	60 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	53 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	33 13	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	84	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	108 46	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0789</b>		<b>0950</b>			<b>35.0</b>	<b>325.0</b>
	<b>GRAND TOTAL</b>	<b>0789</b>		<b>0950</b>			<b>35.0</b>	<b>325.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.29

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000098  
 Roll No. 245125892  
 Regn. No. 24-DEO-1025

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : L DIVYA  
 Father's Name : L MOHAN RAO  
 Mother's Name : L AMMOJI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	31 27	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	53 10	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	52 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	53 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	48 21	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	29 7	20AG	050	A	8	02.0	16.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	83	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	198.5
							24.0	198.5

RESULT : RE - TILL JUN- 2027 IN : MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000099  
 Roll No. 245125893  
 Regn. No. 24-DEO-1032

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SANJAY KUMAR  
 Father's Name : RAMESH KUMAR  
 Mother's Name : SAROJ DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	60 26	40AG	100	O	10	04.0	40.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	50 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	65 25	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	65 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	57 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	32 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	91	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	86	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	115 49	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0820</b>		<b>0950</b>			<b>35.0</b>	<b>338.0</b>
	<b>GRAND TOTAL</b>	<b>0820</b>		<b>0950</b>			<b>35.0</b>	<b>338.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.66

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000100  
 Roll No. 245125896  
 Regn. No. 24-DEO-1036

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : AMIT RAJWAR  
 Father's Name : JADU RAJWAR  
 Mother's Name : SUMITRA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	34 15	40AG	100	C	5	04.0	20.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	33 14	40AG	100	C	5	04.0	20.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	AB AB F	40AG	100	F	0	04.0	0
4	MCA-20-34B CYBER SECURITY	AB AB F	40AG	100	F	0	04.0	0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	32 14	40AG	100	C	5	04.0	20.0
6	OE-20-39 RETAIL MANAGEMENT	18 8	20AG	050	B	6	02.0	12.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB AB F	80AG	200	F	0	08.0	0
	TOTAL	***		0950			35.0	072.0
							14.0	72.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-33 MCA-20-34B MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000101  
 Roll No. 245125897  
 Regn. No. 24-DEO-1040

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SRISATYALAKSHMI CHUNDURI  
 Father's Name : RAMARAO  
 Mother's Name : KAMESWARI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	57 28	40AG	100	O	10	04.0	40.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	55 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	59 29	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	60 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	55 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	33 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	84	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	111 47	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0803</b>		<b>0950</b>			<b>35.0</b>	<b>333.0</b>
	<b>GRAND TOTAL</b>	<b>0803</b>		<b>0950</b>			<b>35.0</b>	<b>333.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.51

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000102  
 Roll No. 245125899  
 Regn. No. 24-DEO-963

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : KUNAL CHAVAN  
 Father's Name : RAVINDRA  
 Mother's Name : JYOTI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	52 27	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	56 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	55 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	57 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	56 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	30 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	79	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	108 46	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0777</b>		<b>0950</b>			<b>35.0</b>	<b>325.0</b>
	<b>GRAND TOTAL</b>	<b>0777</b>		<b>0950</b>			<b>35.0</b>	<b>325.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.29

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000103  
 Roll No. 245125900  
 Regn. No. 24-DEO-1037

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SIDDHI  
 Father's Name : RAM SWARUP MANDAL  
 Mother's Name : KIRAN DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	58 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	57 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	54 29	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	58 28	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	58 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	34 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	83	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	111 47	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0797</b>		<b>0950</b>			<b>35.0</b>	<b>325.0</b>
	<b>GRAND TOTAL</b>	<b>0797</b>		<b>0950</b>			<b>35.0</b>	<b>325.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.29

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000104  
 Roll No. 245125901  
 Regn. No. 24-DEO-1039

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : MOHIT  
 Father's Name : ASTEMAL SINGH  
 Mother's Name : SUMITRA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	55 27	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	57 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	57 15	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	60 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	61 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	34 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	81	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	85	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	116 50	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0800</b>		<b>0950</b>			<b>35.0</b>	<b>323.5</b>
	<b>GRAND TOTAL</b>	<b>0800</b>		<b>0950</b>			<b>35.0</b>	<b>323.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.24

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000105  
 Roll No. 245125902  
 Regn. No. 24-DEO-1043

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : RAJAT KUMAR  
 Father's Name : SHIV CHARAN DASS  
 Mother's Name : SUNITA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	53 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	53 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	53 14	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	58 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	57 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	31 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	85	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	82	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	108 46	80AG	200	A+	9	08.0	72.0
	TOTAL	0767		0950			35.0	323.5
	GRAND TOTAL	0767		0950			35.0	323.5

RESULT : PASSED AND HAS OBTAINED : SGPA 9.24

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000106  
 Roll No. 245125903  
 Regn. No. 24-DEO-1047

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SONIA  
 Father's Name : RAMESH KUMAR  
 Mother's Name : SANTOSH  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	54 28	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	55 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	52 27	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	59 28	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	55 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	30 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	80	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	112 48	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0781</b>		<b>0950</b>			<b>35.0</b>	<b>325.0</b>
	<b>GRAND TOTAL</b>	<b>0781</b>		<b>0950</b>			<b>35.0</b>	<b>325.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.29

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000107  
 Roll No. 245125904  
 Regn. No. 24-DEO-1049

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SHARMA HITESH RAJESH  
 Father's Name : RAJESH  
 Mother's Name : MITHLESH DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	61 26	40AG	100	O	10	04.0	40.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	53 30	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	55 30	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	59 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	53 30	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	31 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	83	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	85	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	70 30	80AG	200	B	6	08.0	48.0
	<b>TOTAL</b>	<b>0741</b>		<b>0950</b>			<b>35.0</b>	<b>307.5</b>
	<b>GRAND TOTAL</b>	<b>0741</b>		<b>0950</b>			<b>35.0</b>	<b>307.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.79

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000108  
 Roll No. 245125906  
 Regn. No. 24-DEO-1048

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SACHIN  
 Father's Name : KARTAR SINGH  
 Mother's Name : GEETA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	57 29	40AG	100	O	10	04.0	40.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	60 26	40AG	100	O	10	04.0	40.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	55 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	61 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	54 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	31 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	81	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	84	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	109 47	80AG	200	A+	9	08.0	72.0
	TOTAL	0796		0950			35.0	329.0
	GRAND TOTAL	0796		0950			35.0	329.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000109  
 Roll No. 245125908  
 Regn. No. 24-DEO-1044

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SHUBHAM KAUSHIK  
 Father's Name : SANJAY KAUSHIK  
 Mother's Name : SITA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	49 28	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	59 20	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	55 28	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	62 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	56 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	30 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	86	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	86	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	70 30	80AG	200	B	6	08.0	48.0
	TOTAL	0733		0950			35.0	306.0
	GRAND TOTAL	0733		0950			35.0	306.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.74

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000110  
 Roll No. 245125909  
 Regn. No. 24-DEO-1042

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : OMKAR SINGH  
 Father's Name : SHAM SINGH  
 Mother's Name : SHANTI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	47 26	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	51 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	51 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	53 27	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	45 28	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	30 7	20AG	050	A	8	02.0	16.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	79	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	112 48	80AG	200	A+	9	08.0	72.0
	TOTAL	0738		0950			35.0	305.0
	GRAND TOTAL	0738		0950			35.0	305.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.71

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000111  
 Roll No. 245125910  
 Regn. No. 24-DEO-902

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SALMAN AERPULA  
 Father's Name : AERPULA VITTAL  
 Mother's Name : AERPULA NARSAMMA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	51	22	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	54	23	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	62	27	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	62	27	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	60	26	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	35	15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB	F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB	F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB	AB	F	80AG	200	F	08.0	0
	TOTAL	***			0950			35.0	208.0
								22.0	208.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000112  
 Roll No. 245125911  
 Regn. No. 24-DEO-1031

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : ARVINDER SINGH  
 Father's Name : JASVIR SINGH  
 Mother's Name : JAGDISH KAUR  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	49 27	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	55 29	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	57 29	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	61 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	56 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	34 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	86	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	84	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	112 48	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0800</b>		<b>0950</b>			<b>35.0</b>	<b>331.5</b>
	<b>GRAND TOTAL</b>	<b>0800</b>		<b>0950</b>			<b>35.0</b>	<b>331.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.47

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000113  
 Roll No. 245125912  
 Regn. No. 24-DEO-1050

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : RAMNAD FAISAL AHMED IMTIAZ  
 Father's Name : IMTIAZ  
 Mother's Name : NASEEM  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	51 27	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	49 25	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	46 27	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	50 29	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	50 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	31 14	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	79	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	81	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	111 47	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0746</b>		<b>0950</b>			<b>35.0</b>	<b>309.0</b>
	<b>GRAND TOTAL</b>	<b>0746</b>		<b>0950</b>			<b>35.0</b>	<b>309.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000114  
 Roll No. 245125913  
 Regn. No. 24-DEO-1051

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : JYOTI  
 Father's Name : SUSHIL KUMAR  
 Mother's Name : SULOCHNA BANSAL  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	52 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	51 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	54 29	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	58 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	53 29	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	33 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	90	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	84	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	109 47	80AG	200	A+	9	08.0	72.0
	TOTAL	0784		0950			35.0	323.5
	GRAND TOTAL	0784		0950			35.0	323.5

RESULT : PASSED AND HAS OBTAINED : SGPA 9.24

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000115  
 Roll No. 245125914  
 Regn. No. 24-DEO-1052

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : AARTI  
 Father's Name : NAFE SINGH  
 Mother's Name : USHA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	53 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	61 24	40AG	100	O	10	04.0	40.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	57 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	60 27	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	58 28	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	31 12	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	79	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	76	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	111 47	80AG	200	A+	9	08.0	72.0
	TOTAL	0771		0950			35.0	329.0
	GRAND TOTAL	0771		0950			35.0	329.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.40

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000116  
 Roll No. 245125915  
 Regn. No. 24-DEO-1029

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : KAPILA REANG  
 Father's Name : LATE BACHADHAN REANG  
 Mother's Name : MIKYABATI REANG  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained			Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	27	13	*	40AG	100	P	4	04.0	16.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	23	17	*	40AG	100	P	4	04.0	16.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	31	14		40AG	100	C	5	04.0	20.0
4	MCA-20-34B CYBER SECURITY	34	16		40AG	100	B	6	04.0	24.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	38	22		40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	AB	4	F	20AG	050	F	0	02.0	0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	40			40AG	100	P	4	02.5	10.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	30		F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB	AB	F	80AG	200	F	0	08.0	0
	TOTAL	***				0950			35.0	114.0
									27.0	114.0

RESULT : RE - TILL JUN- 2027 IN : OE-20-39 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000117  
 Roll No. 245125916  
 Regn. No. 24-DEO-1033

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SURAJ KUMAR  
 Father's Name : VISHVROOP SHARMA  
 Mother's Name : VINOD KUMARI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	51 27	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	46 28	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	50 29	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	58 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	49 30	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	30 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	45	40AG	100	C	5	02.5	12.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	85	40AG	100	O	10	02.5	25.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	92 40	80AG	200	A	8	08.0	64.0
	TOTAL	0705		0950			35.0	301.5
	GRAND TOTAL	0705		0950			35.0	301.5

RESULT : PASSED AND HAS OBTAINED : SGPA 8.61

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000118  
 Roll No. 245125917  
 Regn. No. 24-DEO-1053

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : PANKAJ PAREEK  
 Father's Name : HIRALAL PAREEK  
 Mother's Name : SHANKUNTLA DEVI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	42 15	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	41 14	40AG	100	B+	7	04.0	28.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	46 14	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	36 18	40AG	100	B	6	04.0	24.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	42 19	40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	21 9	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	69	40AG	100	A	8	02.5	20.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	109 47	80AG	200	A+	9	08.0	72.0
	TOTAL	0625		0950			35.0	264.5
	GRAND TOTAL	0625		0950			35.0	264.5

RESULT : PASSED AND HAS OBTAINED : SGPA 7.56

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000119  
 Roll No. 245125918  
 Regn. No. 24-DEO-1055

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SUBRAT RANJAN PANDA  
 Father's Name : MRUTYUNJAY PANDA  
 Mother's Name : SAILABALA PANDA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	44 23	40AG	100	A	8	04.0	32.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	49 18	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	46 26	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	46 30	40AG	100	A+	9	04.0	36.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	45 17	40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	20 8	20AG	050	B+	7	02.0	14.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	77	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	79	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	108 46	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0682</b>		<b>0950</b>			<b>35.0</b>	<b>291.0</b>
	<b>GRAND TOTAL</b>	<b>0682</b>		<b>0950</b>			<b>35.0</b>	<b>291.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 8.31

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000120  
 Roll No. 245125919  
 Regn. No. 24-DEO-1054

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SANJU KUMAR YADAV  
 Father's Name : VINOD KUMAR  
 Mother's Name : KAMLESH  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	54 26	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	54 27	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	55 29	40AG	100	A+	9	04.0	36.0
4	MCA-20-34B CYBER SECURITY	57 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	51 30	40AG	100	A+	9	04.0	36.0
6	OE-20-39 RETAIL MANAGEMENT	32 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	76	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	83	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	111 47	80AG	200	A+	9	08.0	72.0
	TOTAL	0777		0950			35.0	321.0
	GRAND TOTAL	0777		0950			35.0	321.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000121  
 Roll No. 245125920  
 Regn. No. 24-DEO-1046

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : SHIWANI  
 Father's Name : SURESH KUMAR  
 Mother's Name : BABITA RANI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	54 27	40AG	100	A+	9	04.0	36.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	61 26	40AG	100	O	10	04.0	40.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	62 28	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	59 29	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	58 29	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	31 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	76	40AG	100	A+	9	02.5	22.5
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	81	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	112 48	80AG	200	A+	9	08.0	72.0
	<b>TOTAL</b>	<b>0796</b>		<b>0950</b>			<b>35.0</b>	<b>333.0</b>
	<b>GRAND TOTAL</b>	<b>0796</b>		<b>0950</b>			<b>35.0</b>	<b>333.0</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.51

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000122  
 Roll No. 245125921  
 Regn. No. 24-DEO-1056

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : AMIT TRAKROO  
 Father's Name : BHUSHAN LAL TRAKROO  
 Mother's Name : VEENA TRAKROO  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	44	19	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	52	22	40AG	100	A	8	04.0	32.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	45	19	40AG	100	B+	7	04.0	28.0
4	MCA-20-34B CYBER SECURITY	51	22	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	45	19	40AG	100	B+	7	04.0	28.0
6	OE-20-39 RETAIL MANAGEMENT	29	12	20AG	050	A+	9	02.0	18.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	AB	F	40AG	100	F	0	02.5	0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	AB	F	40AG	100	F	0	02.5	0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	AB	AB	F	80AG	200	F	08.0	0
	TOTAL	***			0950			35.0	166.0
								22.0	166.0

RESULT : RE - TILL JUN- 2027 IN : MCA-20-36 MCA-20-37 MCA-20-38

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000123  
 Roll No. 245125923  
 Regn. No. 24-DEO-1058

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : G SUDHA  
 Father's Name : G BAPUREADDY  
 Mother's Name : G BHUDEDI  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	39 16	40AG	100	B+	7	04.0	28.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	49 26	40AG	100	A+	9	04.0	36.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	50 15	40AG	100	A	8	04.0	32.0
4	MCA-20-34B CYBER SECURITY	48 25	40AG	100	A	8	04.0	32.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	44 24	40AG	100	A	8	04.0	32.0
6	OE-20-39 RETAIL MANAGEMENT	25 10	20AG	050	A	8	02.0	16.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	73	40AG	100	A	8	02.5	20.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	67	40AG	100	A	8	02.5	20.0
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	112 48	80AG	200	A+	9	08.0	72.0
	TOTAL	0671		0950			35.0	288.0
	GRAND TOTAL	0671		0950			35.0	288.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.23

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_

DMC No. 000124  
 Roll No. 245125924  
 Regn. No. 24-DEO-1059

RESULT-cum-DETAILED MARKS CARD  
 MASTER OF COMPUTER APPLICATION SEM-03 EXAM : JUN- 2025  
 (CBCS-CDOE)

Name : FULPAGARE VAISHALI VISHVANATH  
 Father's Name : VISHVANATH  
 Mother's Name : SUREKHA  
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-31 COMPUTER ARCHITECTURE AND PARALLEL PROCESSING	61 29	40AG	100	O	10	04.0	40.0
2	MCA-20-32 DATA MINING AND INTEGRATION USING R	58 27	40AG	100	O	10	04.0	40.0
3	MCA-20-33 ARTIFICIAL INTELLIGENCE	62 29	40AG	100	O	10	04.0	40.0
4	MCA-20-34B CYBER SECURITY	64 30	40AG	100	O	10	04.0	40.0
5	MCA-20-35B ADVANCED WEB TECHNOLOGIES	59 30	40AG	100	O	10	04.0	40.0
6	OE-20-39 RETAIL MANAGEMENT	31 15	20AG	050	O	10	02.0	20.0
7	MCA-20-36 S/W LAB-V BASED ON MCA-20-32	93	40AG	100	O	10	02.5	25.0
8	MCA-20-37 S/W LAB-VI BASED ON MCA-20-35	82	40AG	100	A+	9	02.5	22.5
9	MCA-20-38 SUMMER TRAINING / INTERNSHIP	119 51	80AG	200	O	10	08.0	80.0
	<b>TOTAL</b>	<b>0840</b>		<b>0950</b>			<b>35.0</b>	<b>347.5</b>
	<b>GRAND TOTAL</b>	<b>0840</b>		<b>0950</b>			<b>35.0</b>	<b>347.5</b>

RESULT : PASSED AND HAS OBTAINED : SGPA 9.93

DATED : JAN 22,2026  
 KURUKSHETRA

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_\_  
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue \_\_\_\_\_